[NDASH Bopotnee: 22

MOUNTING LOCATION: CeLL PHoNE & MEDIA MOUNT ** ADVISEMENT * *

Right side of radio INSTALLATION INSTRUCTIONS z‘:';‘tji L”Stz%‘;tti;’lr;;%?p' itﬁqug’;;ﬁ
TOOL'S REQUIRED: PART#: 75113-802 Vlounts are designed @ thet after
Hook tool MFG: OLDSMOBILE/BUICK / installation, phone is facing normal
Phillipsscrewdriver GMC/CHEVY/ISUZU driver position for left-hand drive
9/32" socket driver MODELS& Y EARS:OL DSBravada02-04,BUI CK /EicleS This mount is not designed
5/16" socket driver Rendezvous02-07, Rainier 04-07, CHEV'Y Blazer 03- 0. °¢ U In foreign countries with

right-handdrivevehicles. Useextreme
care when working around the plastic
componentsonthedash. Excessforce,
can cause breakage of the
plastic components.

5/16" open end wrench 05(pg.1) CHEVY MonteCarl002-05,M alibu 02-03

HARDWAREINCLUDED: (p9.2) S-1003-04, TrailBlazer 02-09, Colorado 04-12,

75001 TOP W/(2)-O- 8/32" Acorn Nts GM C Sonoma02(w/CD) 03,Envoy 02-09,Denali 05-07
(pg.3) Canyon 04-12, 1SUZU Ascender 03-07,

I-Series 06-07 (pg.4)

Instructionsfor Bravada, Rainier and Blazer start here. Seebelow for other instructions

get at the screw on theright side of the radio.

STEP#2: With a9/32" socket driver. Removethe screw located on theright side of theradio.
Attach part stamped with (3A) to the dash by placing the InDash Mount over the screw holeand E
guide pin. The second bend of the InDash will rest ontheface of theradio. Tightenthescrew [
and replacethebezel inreverseorder.

STEP#3: Install part B (with PanaVise logo and part number onit) by inserting the studsinto
the holeson part (3A) and installing the (2) cap nuts onto the studswith the 5/16" socket driver.

Instructionsfor Buick Rendezvous

STEP#1: With Phillips screwdriver, remove (2) screwsat the bottom of the driverssideknee
panel. Pull this panel off to release atotal of (5) clips. Thisknee panel includesacover that is
abovethe pedals. Once you release this panel, thereisalight that isattached to it. Turnthe
light socket to remove. Set knee panel aside.

STEP#2: Continue by using hook tool to pop off the bezel that surroundsthe, (3) air vents,
radio, climate control, rear hatch switches. Start from theright side of theradio air vents, to
releasethefirst clip, continue pulling clips (1) at atime. Theclipsarelarge and tight, pull only

as many asyou need to access the Phillips screw on theright side of theradio.

STEP#3: With a9/32" socket driver. Removethe screw located on theright side of theradio.
Attach part stamped with (3A) to the dash by placing the InDash M ount over the screw hole
and guide pin. The second bend of the InDash will rest on the face of theradio. Tighten the
screw and replacethebezel inreverseorder.

STEP#4: Install part B (with PanaViselogo and part number onit) by inserting the studs
into the holes on part (3A) and installing the (2) cap nuts onto the studs with the 5/16" socket

driver.

(SeePg.2for MonteCarlo & Malibu)

(See Pg.3 for GMC Sonoma, Envoy/Denali, CHEVY S-10, ISUZU Ascender,
and Chevy TrailBlazer)(See Pg.4 for Chevy Colorado & GMC Canyon)

p—

Finishedinstall picture
Rendezvous



[NDASH Eauamee et

MOUNTING LOCATION: CeLL PHoNE & MEDIA MOUNT ** ADVISEMENT * *
Right side of radio INSTALLATION INSTRUCTIONS Rte@‘tj ins“_u‘iigﬂs f_omp' eA‘ﬁylprg’f tﬁ
. . Starting In arron. nbasl
H0.0|.< tool . MFG: OLDSMOBILE/BUICK/ installation, phone is facing normal
Phillipsscrewdriver GMC/CHEVY /ISUZU driver position for left-hand drive
9/32" socket driver MODELS& YEARS:OL DSBravada02-04,BUlcK /EicIes: This mount is not designed
5/16" socket driver Rendezvous02-07, Rainier 04-07, CHEV'Y Blazer 03- to rt:tehuseéj dl A forg]gnl COLLJJnmeStWIth
5/16" open end wrench 05(pg.1) CHEVY MonteCarlo02-05Malibu02-03 19" "ANCCTIVEVELE €8 FEsereme

] . care when working around the plastic
HARDWAREINCLUDED: (p9.2)S-1003-04, TrailBlazer 02-09, Colorado04-12, componentsonthedash, Excessforce,

" GM C Sonoma02(w/CD) 03,Envoy 02-09,Denali 05-07
75001 TOP W/(2)-O- 8/32" A Nut
& corn s (pg.3) Canyon 04-12, 1 SUZU Ascender 03-07, clan ici%lﬁeongtzakage of the
|-Series 06-07 (pg.4) plast P

Chevrolet MonteCarloinstructions:

STEP#1 L ocate ablack panel below the steering wheel column/knee panel, abovethe gas and brake pedals. Drop thispanel down
by pressing (2) tabstorelease. Thiswill expose(2) screwsthat holdthekneepanel. Let panel hangand removethe(2) screws
that holdtheknee panel. Set screwsaside. With handspull thekneepanel to releasethespring clips. Let kneepanel hang.
Removeascrew from theleft side of the steeringwheel column. Thisscrew holdstheinstrument cluster bezel. Set screw
aside.

STEP#2 Thereisafusepanel onthedriver'ssidedashboard. Thedriver door must beopentoremovethefusepanel cover. Toremove
thiscover, pull straight out with the hook tool torelease (4) clips. Set cover aside. Remove (1) screw from the upper right
sideof thefusepanel cavity, thisscrew holdsthebezel that surroundstheinstrument cluster and radio/climatecontrol asone
piece. Apply theemergency brake, turnignitionon, but DO NOT start the car, shift to 1st gear, and tilt the steering wheel
all theway down.

STEP#3 Openglovebox and removescrew that hol dsthebezel weareremoving. Thisscrew islocated approximately wheretheglove
box doorstop hitsthe dash onthe upper left of the glovebox cavity. Toreleasethebezel start fromtheright sideof thebezel
pulling fromtheleft and right side of theradio areaat itslowest point. With your hands carefully start pulling toreleaseall
clips. Continueworkingtowardthedriver'ssideuntil theentirebezel hasheenrel eased. Toassi st with getting thebezel around
theinstrument cover off, put hook tool between bezel and dash on theright sideand slidethe hook tool to theleft to release
thetopclips. Onceall clipshavebeenreleased pull thebezel out of theinstrument cluster area. Disconnect thewiresfor the
emergency flasher, and set bezel aside.

STEP#4 Witha9/32" socket driver. Removethescrew located ontheright sideof theradio. Attach part ssampedwith (3A) tothedash
by placing the InDash Mount over the screw hole and guide pin. The second bend of the InDash will rest on theface of the
radio. Tightenthe screw and replacethe bezel inreverseorder. Install part B (with PanaViselogo and part number onit) by
inserting the studsinto the holes on part (3A) and installing the (2) cap nuts onto the studs with the 5/16" socket driver.

STEP#5 Attach phone holder to InDash Mount.
INSTALLATIONISNOW COMPLETE.ENJOY YOURNEW INDASH by PANAVISEMOUNT

:!e.-.-.w

<,
o Wo R\'“*
09-06-11

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most
complete up-to-date PanaVise InDash Applications List: 7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002, www.panavise.com
© 2002 PanaVise Products, Inc.



I Il ]] ﬂ 5 H \IlSE® 02

MOUNTINGLOCATION: CELL PHoNE & MEDIA MOUNT ** ADVISEMENT * *
Right side of radio INSTALLATION INSTRUCTIONS Read instructions completely prior to
TOOLS REQUIRED: PARTH# 75113-802 starting install_ation. All InDash
Hook tool MFG: OLDSMOBILE/BUICK / Mounts are designed so that after
. . installation, phone is facing normal
Phillipsscrewdriver GMC/CHEVY/ISUZU driver position for left-hand drive
9/32" socket driver MODELS& YEARS.OL DSBravada02-04,BUICK vehicles. This mount is not designed
5/16" socket driver Rendezvous02-07, Rainier 04-07, CHEVY Blazer 03- to be used in foreign countries with
5/16" open end wrench 05(pg.1) CHEVY MonteCarl002-05,M alibu 02-03 right-handdrivevehicles. Useextreme

. (pg.2) S-1003-04, TrailBlazer 02-09, Colorado04-12, carewhenworking around the plastic
HARDWAREI NCI: UDED: GM C Sonoma02(w/CD) 03,Envoy 02-09,Denali 05-07  componentsonthedash. Excessforce,
75001 TOP W/(2)-O- 8/32" Acorn NUts (1, 3) Canyon 04-12, 1SUZU Ascender 03-07, can cause breakage of the
ChevroletMalibulnstructions: I-Series 06-07 (pg.4) plastic components.

STEP#1 Apply theemergency brake, turnignitionon (DONOT START VEHICLE) and shiftinto 1st gear. Withthehook tool, pull
thebezel that surroundstheignition switch (cover will pop off, and you will need to remove and replacethe key to get bezel
off all theway if necessary), radio, climate control, and storage box, starting from the bottom portion of thebezel ontheside
of the storage box, and working your way around the bezel. Once you have released the bezel push it toward theleft side.

STEP#2 Witha9/32" socket driver. Removethescrew located ontheright sideof theradio. Attach part ssampedwith (3A) tothedash
by placing the InDash Mount over the screw hole and guide pin. The second bend of the InDash will rest ontheface of the
radio. Tightenthe screw and replacethe bezel inreverseorder. Install part B (with PanaViselogo and part number onit) by
inserting the studsinto the holes on part (3A) and installing the (2) cap nuts onto the studs with the 5/16" socket driver.

INSTALLATIONISNOW COMPLETE.ENJOY YOURNEW INDASH by PANAVISEMOUNT

Finished Install Picture Malibu

INSTRUCTIONSFOR GMC Sonoma& CHEVY S-10:

STEP#1 Removethe(4) screwsfrom each sideof thesteering columnthat holdsthel ower panel.
Thispanel islocated beneath the steering column (knee panel). Completeremoval of | SEgwme] [ amnmes|
thispanel isnot required. Therewill be ascrew behind the knee panel that holdsthe im’:f—g:ta ‘:..;:_:.:’;}
full size bezel on. Remove this screw and set aside. Also remove (1) screw above e —

instrument panel.

i
|
|

STEP#2 Unsnap theright side of thefull width bezel that surroundsthe climate control/radio/
CD/cassette. Using thehook tool, position it under theright side of theright-hand air
vent. Carefully pull thebezel toreleaseaspring clip; releaseanother clipfrombottom = 2
right corner of radio. Pull bezel from right side. I = ¢

STEP#3 With a9/32" socket driver. Remove the screw located on theright side of the radio. Finished Install Picture,
Attach part stampedwith (3A) tothedash by placing thelnDash Mount over thescrew Chevy S-10, 2003-04
hole and guide pin. The second bend of the InDash will rest on the face of the radio.
Tightenthescrew and replacethebezel inreverseorder. Install part B (with PanaVise
logo and part number on it) by inserting the studs into the holes on part (3A) and
installingthe (2) cap nutsontothestudswiththe5/16" socket driver, or 5/16" openend

o ¢
wrench. g %
INSTALLATIONISNOW COMPLETE.ENJOY YOURNEW INDASH by PANAVISEMOUNT 09-06-11 ;6 é‘.‘
‘o N
Wor\®

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most
complete up-to-date PanaVise InDash Applications List: 7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002, www.panavise.com



INDASH Crovmmse: e

I\/I_OUNTINGL_OCATIONZ CeLL PHoNE & MEDIA MOUNT * % ADVISEMENT * *
Rightsideofradio INSTALLATION INSTRUCTIONS Read instructions completely prior to starting
TOOL SREQUIRED: PART#: 75113-802 installation. All InDash Mounts are designed
HOOktOO|,Phi||ipSSZI’BNdI’iV€f MEG: OLDSMOBILE/BUICK / so that after installation, phone is facing
9/32" & 5/16" socket driver, C.;M C/CHEVY /1SUZU non."nal drivgr positio.n for Ieft-.hand drive
5/16" openendwrench MODELS& YEARS-OLDSBravada02-04, BUICK oo oo TS mount fs nt designed fo be
. o ! used in foreign countries with right-hand
HARDWAREINCLUDED: Rendezvous02-07, Rainier 04-07,CH EV.Y Blazer 03- drivevehicles. Use extreme carewhenworking
75001 TOP W/(2)-O- 8/32" Acorn Nuts 05(pg.1) CHEVY MonteCar|002-05,M alibu 02-03 around the plastic components on the dash.

(pg.2) S 1003-04, TrailBlazer 02-09, Colorado 04-12,
GM C Sonoma02(w/CD) 03,Envoy 02-09,Denali 05-07
(pg.3) Canyon 04-12, 1SUZU Ascender 03-07,
|-Series 06-07 (pg.4)
INSTRUCTIONSFOR GM CEnvoy/Denali & | SUZU Ascender:
STEP#1: Inset hook tool into left or right air vent, pull to release (1) clip, repeat on the other
vent. Carefully pull out on the bezel surrounding the air vents and goes all the way to the
console. Pull thisbezel to release (4) more clips. Y ou do not need toremovethebezel .

Excess force, can cause breakage of the

STEP#2: With a9/32" socket driver. Remove the screw located on the right side of the radio.
Attach part stamped with (3A) to the dash by placing the InDash Mount over the screw hole
and guide pin. The second bend of the InDash will rest on the face of the radio. Tighten the
screw and replace the bezel in reverse order. Install part B (with PanaViselogo and part
number on it) by inserting the studs into the holes on part (3A) and installing the (2) cap nuts also 75112-402
onto the studs with the 5/16" socket driver, or 5/16" open end wrench.

—— T\
INSTRUCTIONSFOR CHEVY TrailBlazer: i : =

STEP#1: With Phillipsscrewdriver, removethe (1) screw located bel ow the climate control '
next to the power outlet. Partialy pull off the bezel that surroundsthe radio, climate control,
and power outlets. Start from the bottom of the bezel with the hook tool, and working your way
around releasing atotal of (4) clips. Do not remove bezel completely, open just enough to get at
the screw on theright side of theradio.

STEP#2: Witha9/32" socket driver or wrench, Removethe screw |ocated on theright side of
theradio. Attach part stamped with (3A) to the dash by placing the InDash Mount over the L e
screw hole and guide pin. The second bend of the InDash will rest on the face of theradio. InDash by PanaVise Installed
Tightenthescrew and replacethe bezel inreverseorder.

on
TrailBlazer 2004 with Fact.Navi.

STEP#3: Install part B (with PanaVise logo and part number onit) by inserting the studsinto
the holes on part (3A) and installing the (2) cap nuts onto the studs with the 5/16" socket.

INSTRUCTIONS FOR:CHEVY Colorado,GMC Canyon,lSUZU |-Series :
STEP #1: Insert hook tool into the top of the air vent towards the center with point
upward back about 2". Pull to release (1) clip. Continue to pull on bezel to release (5)
more clips, (2) on each side of the radio and climate control, and (1) at the bottom of
the bezel.

STEP #2: With a9/32" socket driver or wrench, Remove the screw located on the
right side of the radio. NOTE: Be aware that removal of this screw may activate a
security device that disables the radio. If this occours, please disconnect the radio for
2minutes and plugit back in to allow the radio to work again. Attach part stamped

f/:-_ 3 'I

FinishedIngtall Picture,

with (3A) to the dash by placing the InDash Mount over the screw hole and guide Colorado, Canyon,

pin. The second bend of the InDash will rest on the face of the radio. Tighten the [-280 & 1-350

screw and replace the bezel in reverse order. ‘gs "’é‘o&
. . . SN 090611 + \AA

STEP#3: Install part B (with PanaVise logo and part number on it) by inserting the 2 \ &

studs into the holes on part (3A) and install (2) cap nuts on the studs with 5/16" SD . 0 o™

There may be recent updates to this Instruction Sheet, please visit our website or contact PanaVise Products, Inc. for the latest revision as well as for the most
complete up-to-date PanaVise InDash Applications List: 7540 Colbert Dr., Reno, NV, Phone: 800.759.7535, 775.850.2900, Fax: 800.395.8002, www.panavise.com



